
centra



𝜹𝐦𝐢𝐬𝐫𝐞𝐠



𝜹𝐦𝐢𝐬𝐫𝐞𝐠



𝜹𝐦𝐢𝐬𝐫𝐞𝐠

The photometric 
pupil is not the DM!

Sub-subaperture positioning: precise 
enough to close the high order loop!
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Loop frequency: 441 Hz
Loop gain: 0.19

Number of controlled modes: 41

Spatial frequency 𝒌 Temporal frequency 𝑓 (Hz)
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Loop frequency: 500 Hz
Loop gain: 0.4

Number of controlled modes: 45

Spatial frequency 𝒌 Temporal frequency 𝑓 (Hz)
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Thanks for your 
attention! Any 

question?

https://www.aanda.org/component/article?access=doi&doi=10.1051/0004-6361/202449311

